Weekly Review # 21

1. Put in order from least to greatest.

3 3 12 -4

3. Compare using <, >, or =.

-4.8 -6.1

5. Solve using the distributive property.

3(x + 20 - 2y)

7. Estimate.
HINT: Round the smaller number first then
find a division fact.

428 ~ 59=

9. Complete the ratio table below to solve the
problem.

Last week | ate 12 cookies. At that rate, how
many cookies will | have had at the end of
thirty days?

Cookies | 12

Days 7 30

Name:
Block:

2. Graph each point on the number line
below.

-1 25 -3 075
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4. Solve fory.
42 = 3y
6. Combine like terms:

4x + 2y - x +7 +5y - 9

8. Complete the drawing to show a ratio
equivalent to 3:4.

10. There are, on average, 43 pieces of
candy in each full-size bag of Skittles. One
case of skittles contains 50 full-size packs. If
there are 3 cases being delivered to your
store today, how many pieces of candy can
you expect?






